
Grade 10
: IGCStEreVectors

-

%
is



nan attain
of vectors .

Ayou will learn :
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Topicityinga vector by a scalar

Learning Objective : You will learn to multiply a vector by a scalar .

a Scalar quantity is that with

only magnitude .

Example: Vecter gty has both magnitude direction.
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:Vectors ectorof a Veter
&ective : You will learn to calculate &

eise31 . 3 Questions 2

Points to note ercisethe magnitude of a rector

- Magnitude of a rector is given by its length .

0
> The longer

the

length ,
the greater the magnitude .

o 0

> The shorter the length
,

the smaller the

magnitude .

0 0

=>It is calculated using pythagoras' therem .

⑧c = (d) b = (E)
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Vector relative to a

given point -

involving vector geometry .
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